- s

9. Choose the correct option that would complete the sentence.

PART ‘A’ : General Knowledge

UGS ‘9’ : PTG Mlay

Each child | a gift.

receives s receive ) receive D) will be receive

|ﬂ-

-*E_.--—

1. ‘empred’ eTETEILD JeL Comyflwned @ml&&L16)LpILD FreY
10. Choose the curract superlative form of the given adjective - ‘wealthy” :

A ppfleer  B) Boanesi Wﬁ,gnmmﬁ D) GmEOsT®S

2. 'QussCasir ' T’ i
Lg50wad GpeuesRuiler o HMwm A) Wealthier B) Wealthiest

D) Most wealthiest

~
N

A) af aufl &t ; |
) agwonm upeflas Y Blesens Caugprus Fns@ M / C) More wealthier

C) Gorel Quevs &G . AL g eriiirenan

11. 'Oh, how hotitis |

3. SLLBTL_&55) 6T WTLIL| GIGHIGRINISEHE @S SmLILI(BLD xS E)

A) Qg mesesyrmmTmi %ﬂ.} AOWL G Thisis an sentence.
C) oo D) uBGari G A) Imperative B) Assertive \/ca,/Exclamatury D) Interrogative
4. QemnCpm_iKleney erer T
M ULPEISLILI(R IS
A) \E»/ 12. Choose the correct meaning of the word ‘bona fide’.
2 VT .
3 BS TS .
C) 1seLbLISLD DI A) Totally B) a Spoken Examination
\ﬁénuine D) a Summary

5. ‘@EAYUT -@)wESTLD Fnmls.

13. The famous national song v/ande Mataram’ was written by

A) gaied aflemerodmy B) sTeRTERyLbenio
C) aenewgblsmens <R
WUW@L LierGliomys ankim Chandra Chatterji B) Rabindranath Tagore

6. sawewsTFaT TIPS HIVS EF6T 6T
D) SarojiniNaidu

A) BlevayLiy Wn@g;m

C) KamalaDas

14. Choose the correct passive form of the sentence :

C). @!ﬂmﬂin;ﬁ@ D) gsrﬂljummw
;‘:U/anmgg Clumpigged’ ereLig) o “They are mending the road".
A) The road was beingmende ) Theroad has been Menae
C) seop
D
) Gpeop = road was mended by them D) Theroad is being mended

8. sMsmeverr Loser
15. Choose the correct option :

A) m&eeu B) #nisenay

C). yBiopB - \P/mmmwgw

The albatross is a

C) -Volcano D) Mountain - i

A) Snake




£ = ¥ i '}ﬂ* ’}' g —-I
(® e o Ii.: HM‘”M“ - ﬁ A
A o 5 o 4 5. 2 mo S <
r'??.r_ -~ '
22 &
= & o 1 dx’r\'H _H":' |'f_1 i ﬂ
16. Three angles of a triangle are x+5 , x+10 and X+15 . Find x Y i
< LAy ¢ 34
A] 30 B} BDG i B o AN .. ~ 21‘ " A = (1 "'2 3) ﬂﬂd B = 3 thEn A o B =
P a- ==
,/f : 60° a4, \ -
\/Oﬁ 50 D) 0)
S i nems Bar apsry Goremmser X+ x+10 Guogytd x+15 eTevfied X Lol 0
2 A A) (000) B)
’ o 5 0
A) 30 B) 80 2
C)-50° D) 60° \%‘4} D) Not defined
: 14 | ( \\
17. The range of 10 first prime numbersis 2, 3, 5,7, 11,13, 17, 19, 23 and 29 i ! ) + 7
A) 23 B) 29 | A=(1-23) wppio B = sraflov A + B = g B
C) 27 D) 21 | \
(0)
2,8,5,7, 11,18, 17, 19, 23 wpmib 29 erainp (pse 10 LT eratmsofer alés
0
A) 23 B).29 A) (000) B) ;
\/O!/E? D) 21 \ %/ |
C) (-14) D) auengwmiss Lt ajleyen ey
18. Find the two numbers whose sum is 27 and product is 182 | '
p 22. 1f(7,3),(6,1),(8,2)and (P, 4) are the vertices of a parallelogram taken in order then the value of P is
A) 15,14 B) 16,12 C) 18,13 D) 13,14
: .. Ty : | B) 6
@ oew (B @) wev eTarmselar smHGe 27 Clumssey 182 erafley oyha eTawmrser A) 7 )
A) 15,14 B) 16,12 C) 18,13 DY 13,14 C) 8 D) 9
' SmyLE ' ; 5 &) et eurflena L. e 2. 8F 6 erevficv P-
of the following curves does not pass through the origin ? (7, 3), (6, 1), (8, 2) wpmutb (P, 4) erewrLien i @ emewrs IS BT aUMenFLILIL. LB S
B) YE=2!:2 =12 &7 LoFILIL Y el fﬂ[ ]@f “?
D) a®y? = x2 (a2 - x2) A) 7 2 T ; Q
Lerai@pib auenareuenis@5er 15 28 aif) Qsdang 9 \- o h 0).8 D) 9 =
}Oﬁxa+1 B) y2 = 2x2 Ny
= x3 ) - r is the Unit of
C) y=x D).a2y2 = x2 (@2 — x2) Sy 20 .: 23. Light yea
L Erealene (y-Distance
20. ?mainder when x° + x= — 7x - 3 is divided by x — 3 is A) Frequency
12 B) 14 AN q r*;i?' A C) Energy D) Time
5 D) 15 T :
C) . ) 1 o gpe® eeTLS TEDET DS
x3 + )&= 7x — 3 e1MLI™F X =3 Y& 21GEGL Cung Bant_s g 1h 18 o \B) Gsrens
@) e 6 & GV
12 B) 14 A) 9@ iGlauew oY)
o N . D ; .
G).5 D) 15 3 1 1_q,-'b! C) PO ) .&mevLh
0 2-




o | T 1 A

24 The resistance of an ideal ammeter 1S 28. Which of the following physical quantites has no dimension ?

) Zero
A) Small A) Force
. D) Very high
C) Infinite C) Impulse
9 Aps b L Mer ek Ripaaant QUDLIWG joTeyseper e15p@ LMbremid @)eeme
A) gope b) et A) - aflend | B) 2. Gs1D
C) maes D) ds sigsLo 0) seassnsE s D) Gsnewts
25. The polarising angle for glass IS 0g. The lightest gas which is non inflammable is
7S ,
A) 32.5° B> ﬂuum \ B) Hydrogen
o o
C) 90 D) 45 C) Nitrogen D) Argon

sesrenTnig Wer sar aflenarays CamenTLo Hesayp @)Cevsmen eriuyib seTenowpD QITY

A) 32.5° Vey/sff.sﬂ :l A). afeSluwith B) evapLggen
C) 90° D) 45° A C) empL_pggoe D) gyismar

30. Which has maximum lonisation energy ?

26. An object is placed between two parallel plane mirrors, the number of images observed will be
B) Alkaline earth metals

I."'-I

=
]

A) 2 A) Alkali metals
) 2 C) 6 Infinite

-l

C) Halogens Noble gases

PSS 6T @)enentuing o erer Q)6 swsear Y sEEEG Qe Gu el

Clunmertey gpLI@ LD bLmser erarenéemns cTenel H& ojwelm&E@LD gyppewL QuppieTaTeT ?

A) 2 | B) 4 C) 6 . _:’“' A). sy 2 Gevrsmis e B) &ny e 2 Caunsmiser
. D). o afal) /3 itk : 1 il
Y AN C) Ganewgenser D) cwhw eunuydsen

il 'r'-' }J r

/hr respectively. Calculate the relative:

velocity of vehicle A if both travel eastwards af a8 31. Gram molecular mass of water
A) 105 km/hr By ekt | “2 A) 16 B) 2 C) 12 D) 18
r
+ C) 82.5 km/hr D) 60k F Efer Domib ppevEsmpl 1D
r L
@re( eunseriiser A b | A) 16 B).2 C) 12 D) 18
: %8 Qs Bein Gy : . e f carbon
A) 105 km/hr | ! A) 6 ' B) 12 C) 4 D) 1
E)""Skmmr P o
sriLeder @)eent Bpe
C) 52.5km/hr
D) 60 km/hr A) 6 B) 12 C) 4 D) 1

e
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\/D[énzylamine

FOLIT L@ BEIS6T SwihasL LweTL GVl

33. Sulpha drugs are prepared from

A) Methylamine B) Aniline

A) Glwgde b6 B) gaflade

C) Gluerensev oLl D) N-N - enr Gog@a S Lole

34. de- Broglie equation is

o l_l'w \}AF_h_
A) ——h' B) A=hmv C) = =

g - gnesGer FeTLn(®

mv hv h

’l=_ = 3&=_ D ?L:_
A) " B). A=hmv C) = )

35. Unicellular plants found floating in oceans and freshwater are called

A) Algae oplanktons
C) Phytoplanktons D) Epiphytes

BevTenl T LopmILL SL_cv&etlev LOSHES SrewriLGL @@ 0Fe gmeugmiser @)eaeumm)
| & 1p& & LI Li () &) ev1 D 6.
A) .2 VFTE S 6T B) @Liermmié L enger

ocoem I GL_mLIeTnE &L ei& 6T D) Gsnpmig smeupmiser

36. Amphibians of plant kingdom are called as
\))/Brynphyles B) Algae
C) Pteridophytes D) Gymnosperms
BT plev QUTLDUGT &meuTmIseT
A) HengGuimoaniir’

C) QL AMCLm%emis

B) syavsn
D) &fibCGarmervG)iiib
37. The mango fruit is called as stone fruit, because it has

A) Skinny epicarp B) Stony mesocarp

C) Fleshy endocarp

ormisat, sewGLTeaID &exf] TP LS&LILBEDS 6 eredel @) s
A) QeeflgGsmed, Csre Gundrpg B) . 504C8sme &6 CGunearng)
C) 2 gTG& I FNSLILDDIcTONG) D) 2 613zma) &g T TETE)

\})’{ardendncarph PQ% L CEZ__

D) N-N -dimethyl amine

bﬂﬂl’—*)

UL . R

a8, The vascular bundles are 'skull shaped' in

A) Dicot root B) Monocot root

vmﬁnncm stem

, L@l ere @6 ML UTOVGVTT spenpaer @)B 6 &mewTL L (B)& e DT

C) Dicot stem

A) @ Balgsmas sraigGald B) @3 als@mag sraig Gaur

C) .@QGaIsE@ws sr1elsse® D) 9@ 9@ @mws sTeul S0

39. Complete oxidation of one molecule of glucose yields

A) 38 ATP B) 36 ATP

C) 35 ATP D) 2 ATP
(wpeowTs 9458 gmCaTpp L ULD & @ Bamerdled(B 55 FenL_LILIGI

\/méa ATP

C) 35 ATP

B) 36 ATP

D) 2 ATP

40. The root pockets are present insted of root caps in

\Wriuularia

C) Hydrilla

B) Eichhomia

D) Lymnophylla

Gaurr Q5MLISE@6@ LB QTS CaufLienU& 6T eT5STUTSHe &mewTL (b &) et p e
A). yr-M@CGemwm B) wsasmieflwm
C) emapL-Mean D) &CGammooLlcveum
41. What is the name for the permanent birth control method in Female ?

,B‘)’ﬂbe_ctumy

D) Contraceptive pills

A) Vasectomy

C) Removal of uterus

OuTsErsE OFwwLIL@LD BlIBbS0 @@mLy@ Ipiemel G Fenauller ClLiwir erarar?

A) euresL Lo NS Ly us Ll

C) s@LieU SEDPLD D) s@ésemL wrsPengsar
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A -10- |1II1|I| |||l“] A1- A
te emblem of Indi
42. Who discovered ABO blood group ? 47. The sta awas adopted from
\/i'/l':rl Landsteiner B) T.H.Morgon A) Kalinga Edict b‘?ﬂﬁna;h Billar
C) A.S.Wiener D) Galwin

C) Sanchi Stupas D) Athasasira

ABO @85 auensenw (LS (LpS V6V ST SS T Wi ?

@BHw ST &lewreutib NBB&I TREHLILIL L &i.

A) smiev Cevermr_eviearn B). w.e15. omrsen

C) g.cov. ofami D) smevailenr A) sEI&GS &600leUL () ) S e

: | 58 gL e e i
43. Respiratory center is present in _ C) eness wgl D) wiigs smeav@ Lo
A) The Cerebellum The Medulla Oblongata i '

48, Pattini cult in Tamil Nadu was introduced by

C) The Spinal Cord D) The Parietal lobe
: : A) Pandyan Neduncheliyan heran Senguttuvan

Feunsd L HUILTL. () enwid STeaTliL (LD LES

A) Bpiapenen B) wp@enth | C) Elango Adigal D) Mudathirumaran
C). saw@®easL b D) Gl ev sgiLL S0 B 1960 LgHledl auflum e B pSLILIGS B W e

44. Decibelis a unit to measure the A) unemgwer QBG EGOF w6 B). Gapetr Gl &L (B o6
Irﬁensity of sound B) Intensity of radiation 0) @eriiGan SiLasy D) wpL S8 @LmDeT

C) Intensity of light D) Intensity of heat
L8l eTeiTIG) @)eng STES 2 Fa|D V(S . 49. The Headquarters of the French possession in India
A) -@efluiler jemay B) &8l aIéGicw sjerey | ﬁndichew B) Karaikal
C) gefulcr syer D) QauiusPeir syor ' *

) & ET.0Y ) g8l gjerey C) Chandranagore D) Mahi

45. Which of the following act as Emergency Gland ? QiPurelder 97E5s &19.CUDDESEHSE sanaen oL ons B&pESS

A) Th B) Thyroid
C)) Pit::;: Dj Ad:enal A). unesriy 5Gel B) srengsamev
YuFgSTeV &ILIwns ClFwewir (B eudl | C) #380pTé i D) wran
;J ;mj:iu (= \/?(’(:i:i 50. The subsidiary system was introduced by
6. What is the disease causes due to the infection by a bacterium called Heliobacter pylori ? _ A) Lord Hastings ord Wellesley
A) Tooth decay Peptic ulcer C) George Barlow | D) SirJohn Shore
C) Liver cirrhosis D) Peritonitis , peneiiienis BLLESS S Bpstiu@E e

'mwaﬂiaﬁﬂgﬂihﬁ mugmwﬂ’ eTeiTgmILD unsedwunaired Canango Grmus gy 9 A) Gapebiyhieh DLy
A) upQErses j{@"“’”“‘“

- © rap LIMTG®
C). scbeSyed HpHF D) 2priieuyenp sypp e

'B).Qouc@aveived) 191

D) & grew Gagmi
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51. Self Respect movement was started by
B) Ambedkar

MEMH,

B) - oy bGuig & i

A) Gandhi

C) Jyotiraophule

Fw whwrens @) usHESE ALY

A) s156

C) Gmr@mmeu b6 '135 G uMwmr m. Cleu.om.

52. In which year the Vernacular Press Act was passed ?

878 B) 1882 C) 1898 D) 1902

B Q) QEi@ésmen s 1b QEraT@eIILILIL L. () 13

A) -1878 B) 1882 C) 1898 D) 1902

53. Which among the following journal was edited by Mussolini ?

Wn Kamph

wpGamadefl Gleualluili L. L158)MS e
A) -yBw @S5l
C) oeups

A) New ltaly Avanthi

B) Gotieir &mibL)

D) Aenisd] GloerGL_m

54. The Ledgue of Nations was established in the year

1920 1940 C) 1960 D) 1980
LIGTGTAL(H) SLPSLD BIMIOIINIL_ L 2,657 (H)
A) 1920 B). 1940 C) 1960 D) 1980
55. The city along the Thames River is
A) New York B) Kolkata C) Paris ndon
Gz Lbev BH&GST &Lpedle) 96 LDbSGTET LTS TLD
A) Bluwimis B) Qsrevsssn
C) wmflew D). @)evenrL_ e
56. World Trade Organisation was started in
A) 199 ‘B‘)ﬁ’ C) 1997 D) 1994
2 v alenlls FlpaaTo @)ev OlgmL_mIGLILIL L g).
A) 1996 B) ,1995 C) 1997 D) 1994

D) Risorgimento

MRS g

il

II
_~

I
|
|
|
|
|
"

57.

Gl —

59

The global water use

13- I A

— Percentis accoprited for by irrigation.

A) 60 B) 80 D) 50
ngmaﬂmiﬁnﬂﬂuu@m biis LwesTLIm 19 6 aNpSETH) BIILTFTSBIDES
ngsunﬁ?ﬂr_m@.
A) 60 B) 80 C) .70 D) 50
Is the Second Largest Country in Asia.
india B} China C} Russia D) Pakistan
oA wrelGaCu @remteug siQuiu FrE n ¢ ¢
A) @pswmr B) .@ann
C) @ueywm D) wur&evsme

lake the biggest lake in India is located towards the south of the Mahanadi River Delta.

‘)’J‘ Chilka

B) Kolleru
C) Pulicat D) Sambhar
g warss sypPer 0snGs e iwpgicTer @)bS wiradler AR uAw erflwnm@Lo.
A FlaSlsm B) @srevGaeus
C).yeSlsm D) embumm

60. The discovery of

made a significant change in the attitude of humans.

._,Bﬁ;un

A) Copper
C) Gold D) Fire
saT(HLIY S5 DTV wels & efles aTlILnE! G GDIULNIL_S&5 DjeTey
Lrpevmuslom .
A} G}ELEIL; B} @@ﬂ)u
C) sms&Lbd D) .0 Ly
61. The Earth has motions.
B) Three Two D) Four
A) One ) v 4
yai) G}ﬁn@@i@j DENFQSHET 2_6ITereu. '
A)-gatnl B). epein) C) @w




A

62. National Income is otherwisé called
B) Money Income

&/Gmss National Product

A) Reallncome

C) Nominallncome

BAL_(B) 6 LOMETd 5 6v oGl Gl

: : TGYTLD
A) o erenin @(hLOTEITLD B) wewr ai@Lo

D). Glongs Br_(b) 2 PLIGH

C) GQiwgerey @uHLOAGTLD

63. As per 2011 census the literacy rate in India Is

A) 74.04% B) 65.8% C) 66.8% D) 67.8%

201124t gy (h &&L Cgrens Hews6lsB LTI @ EBwralley 11pSSI6Y ClupCoar

cTeuT el & 60 &
\/A{ 74.04% B),65.8% C) 66.8% D) 67.8%

64. Which year is described as “The year of The Gre_a_L Divide™ 7

A) 1991 B) 2001 ch{' 1921 D) 1981

“ClumoLimeflener gyaw®)’’ erar GO Lu@B LW ye® ?

A) 1991 B) 2001 C). 1921 D) 1981
65. Is a basic institution of capitalism.

A) Price system \/B-){ncume system

C) Cost system D) None

pBavrels s 6us B Ly LiLIGL  [BlD)eUewLDT@ Lb.
A). eilene gyenioLiLy B) eu@Lomer gyenwoLiLy
C) Osavey gyenwoiiy D) ergeyflevency
66. Consumersurplus is

A) Potential Price — Actual Price B) Mvn=TVn-TVn -1

Demand = Supply D) None

BISAGeunii 6165 e g

A)- 2 ameioalled® ~ 5@ afaa B) Mvn=TVn-TVn -1

@) agmer= AL D) ogihcsenas

r
‘l
= -
]

W

LS

-15- A
67. The period of David Ricardg
A) 1723-1790 o
1772 -1823
C) 1766 - 1834
D) 1883- 1964
Qe M&&mGLrealer e
723-1790
) B) 1772-1823
C) 1766 - 1834 D) 1883- 1964

68. Industries which are engagedin the conversion of Raw materials into finished praducts ?
|

A) Construction Industries

’ \/C)fManufacturing Industries

epeuLl Gl (m e er Pyaypp Curmernss swrhé @b Liewflenws GLom Gl& mesar(p) eirem

B) Genetic Industries

D) Extractive Industries

O\ T D& Ten eV

A) s (et Ggriflpsrene B) wry anfls Qs T pETEG
C)ropuss Qsnflperene D; 1905 6% (b & @LD @gngﬂﬁanmm
69. When goods are imported for the purpose of export it is called as

A) Foreign Trade B) Home Trade

\))ﬁltra pot Trade

appI®sCsear QUL ser @)péGLS ClFwLLLL T e

D) Trade

aTanl

90 L& & LILI(BLD.

B) o amprl(® oSwmiimyLh

A) Qeuelpmi @ eJwrLAIL

C) - o gpmILS QW TLImILD D) ewmumgid

70. The first railway line in India was opened to traffic between

A) Mumbai - Chennai B) Chennai- Kolkata

\9)/ Mumbai - Thane

@sQwrelles LS @ouieGa Qs 6165 @) BSIRSEREH L Cw emi(ssLILL LS

D) Delhi-Chennai

A). (pLbenLt - QlFeTenest B) Qeerene - Qasnevsgsm

C) wpbewu - grGen D) G_evel - GQlseirenen



" 16 mm”m“l A7
71. Reserve Bank bf India was established In 76 Which oné of the following isthﬂ'ﬂﬂtﬁﬂr--dﬁﬁ@ﬁﬁ%k- ;
9 : 00K ‘The Republic’ ?
D) 196 :
5 G)s1Ee din B) B "
A) 1935 B) 194 ANEe ) Bryce, ~ C) Montesquieu D) Plato

Puw Meies eum ) @gnﬁyaﬂa‘s&ﬂuii—ﬂ-

1969 ;
MWSS B) 1945 C) 1939 2 A) Guimig. e B) Wengan C) wrem@L vy, yﬂﬂmiﬁt_n
70 W der the Quantitative Credit Control Methods ? e
. ‘ uant ' , Tyt
\A;”Ch Qreicomes unceiie 1 17, The office of the District Collector was created first by |
BankRate B) Fixation of Margins
A) Lord Curzon B) Lord Rippon
; ; D) Moral Suasion : |
G} Direct Action } C) \Warren HEEtng D} Lord ]I'ElWif_‘I

N . : . - . LI muﬂmﬂ’ﬂi@ﬂ'ﬁfﬂﬂq - . . o
8Gp QsrRssLiuL L auppley SL_6T aTe| SL() B @pedm P ral L Fwrert Lgad WP (psedley wrFmed 2 (HaUTHSLILIL LG |

A : : B - [ Ei]' ) ] ! -
) - umi§lals b ) Ly GPSS A) sriger gL B) Mdiuer Doy

£y : : 5 S _ gL
C) Gpoly L oLy &enas e ) Sifleypiss e /gfmngm Gapaviy.men D) @rafler ALy

73. Advertising appeals make people to use such articles, which may effect their health ?
78. Recognised official languages of India

A) Social objections B) Ethical objections
A) 25 B) 238
C) Historical objections D) Economical objections \}ﬂ? D) 27
2L & pavssnE G aflemaralld @b O)LmBaTEHenaTUjLd GUITEI (S 6USD (& QI@TLDLIFLD .t.na';.ﬂamm' 1
® pRSFDG B aSeneredls @ @ y GUSDES 5 , DBl SRR gy siess! Qo Raer
SN Q&g ?
| T S o s A) 25 BJRS
FUPSTWLD FAMBS (&HODLIT(H B) . @W&sLb ks &enpLa®
i e C)-22 D) 27
C) eugevmyy snits Gepun® D) OQunawerngng mips &emLr®
wr - | * d by the Presidential form of government ?
74. Nuclear test Ban Treaty was signed in ? > 79. Which one of the following followed by
A) America B) Eiigiand

A) 1993 B) 1936

; D) France
& oo W ! C) India

’ ' I BLpeuqpii sefle 615 BEell (PP TFTESL NSTUDDL LUBSIDS ?
HeI568) Congenan 1651 QULIGSLD Ths BL b @sOLAPSSLLILL L gy ? paGL e 8%

_ : B) @ &b
A) 1993 B) 1936 “w ' B)i} 16
C . JITearen
C) 1998 D). 1963 ) et
. . " 80. Whichof the following is not an International Body ?
75. In India, the First Municipal Corporation was setup in which one among the following ? /ﬂ ; B) UNO
¢ SAARC
A) Calcutta _Bf Madras IHRC
C) IMF
C) Bombay D) Delhi s

: : : : SR, Bip eueueTeupmIeT 615 25 eIl @)eweney
QpPureiev Gpsw pEIT-8) Hro19sali . @) b eg o A& B) @é&lw BrR&eT $Lp&Ld

C) ueirenr () 5B BpIISTLD

W

A) s0ESS5T B) - wggrev D) uerenT B 2 Meniod &ipsid

C) wibmus D) @ evas)
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97. Which of the following pair of people are Sitting at the extreme end ?
.AB B) AE C) CB

A
of my husband”, jau

wife .
ihe stage, Rita said, “He IS the brother of the daugh‘ter of the foy

 Pointing to a manon |
- : ge related to Rita ?

is the man on the sta

S B) Husband |
£ D) FB
C] i ey Sereupro Ggprmiy. oaflgiseley 6156 Geomi @ . ‘*-J—-f’"
} of rﬂ'?-'—Ff-?-ﬂim;LQ- 'IHE&T@}}‘EHL_M ggmmjg;&}jmi_w mmmaﬂﬂ.ﬂﬁir L1 &’ﬂ'b} ﬁﬂm_uﬂﬂ]’ (yJ'fJi'.'ElﬁG'i.? waﬁﬁéﬂiﬁmmﬁ
- - l6l eu7 .
A L Cuen e @@ LOSTIEED ;55 aflger AL TelD@E eTLILILy A) AB B) AE C) CB D) FB

LD& e en L L FOH1H 6N CT6HT G () ) D (T6VT. GuoenL_uflgyerer b

ﬂ-mfy-‘?’@m ? 98. Between which of the following pairs is D sitting 7

\/)/wﬁf.fi‘i' Uida — AT A) AC B) AF C) CE \)7/
| - .CF
B) &enreued \t ] SGereuptd Ggemy. wefsiseney erpgs Gemiguier 5@ asle ‘D’ DI LD TG GTOTGTT
i = [

C) Ep,.r_g;'m,ﬁfmnw@fﬂﬁmdusﬁ;@urﬁwﬂuﬁrmﬁa‘&r

A) AC B) AF C) CE 2

D) oL DB LoS e

94. Theft: Confess : : Fault : ?

A) Commit_ : B) Say D 180
C) Talk Admit A 160
DBL® : GDDE®S §5550&16T | 1 GPUTEH ? 140
A) 2. piBwel B) ;Gls mev 120
C) Gusa D) e@LUy&GsTeT 100
e 30
95. Patrol is related to security in the same way InsEfaqqe ;g_lgj_ef to E | 60 (y
A) Money B) Protection o
C) Policy D) Finance

20

Gu_Gorevgreng) LngISsLLL e QBMLiLjenLwg), H51CLTe STiLpIB) eise_er Qs Tl et w2

A) Lenih B) ungismiiy 90 91 92 93 94 95
C)- smif @ S L 1b D) euqpeumul ~ Years y
)7
96. A, B,C,D, E, F and G are sitting on the wall and al ' : { 1
TS g all are facing east. ~ 99. Production of two types of vehicles ‘P’ type and ‘Q’ type by a factory over the years (in thousands)
is im = : -
mediate right of D < % In which of the years was production of both P and Q type vehicle together the maximum 2
B is at extreme end and has E as his nei = .
H l_rghbqqrjljgud - A) 1991 1995 C) 1994 D) 1992
G is between E and F o o
b Tosee> = P wppis Q' cuens eunses swrdiiy L 2, T (BH& oflev (o ufgiLi : : :
= | 5 gLosetiey ). : *
D is sitting third from the south end ) b - Pasaia o B . =5 ). LlesTousLd yevw(® s aflan
h ’ o= . E opid Q euensseanar &6 SWrlLiy 51D 7 .
Who is sitti ‘
s sitting to the right of E ? A A) 1991 ,\/{ 1995 C) 1984 D) 1992

A) A B) B G D) C

A, B,C, D, E F wppiv G ereoGavmgpid epap &G LITey
C D er uss58)6 UGG/ LDLDAS DJLOIT (S STeTTT
B asdensdilen Camg ilev, E-eir L&as8 6w LT BEG D
‘G" E 66 F- ps@b p@eled yLoifaycrere
D Glsp® Cany el mig wepraisns SJipglerereri E

- ~A00. In which of the following years was there exact 30% increase in production of ‘Q’ type vehicles over the
previous year ? ;;;L ,'_.'. _

8166 Cprs®) o e)siranant
A) 1992 B) 1994 C).1995 o, 5 ,aﬂ

. 165 el ‘Q s aunserrisailer swifiiy @slounrs 30 F5a9%1h

S SUenTEg)

A) 1992 B) 1994 C) 1995 .

P
"‘".:ﬁ',

j

|

: \ 20 VUG LUSSSRe wims :p;mﬁ!jﬂ:'
A) A B) B ( €) G B : IL
| ' —>a
_.;J-.'; C— f{:) é' E :..4 _ I

-

B
r A
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A

101. The production of ‘P’ type vehicles in 1992 was approximatel

\/G)/J 140%

same year ?
A) 40% RN

6T & 61 6¥7 s50I5LD ?

A) 40% B) 100% C) »140%

y what percent i

D) 1 20%

D) .120%

My

‘Q" type vehicle i, th

; L6 QLI B e s ufler
1992 & ‘P’ ewens eunsenmsefen swmiitiy ‘Q euans o178 euTIEI & e awT ﬁwmﬁuu!. @

2
102. What s the difference in the production of ‘Q’ type vehicles between 1994 and 1995 *

A 20000

C) 40000

B) 30000
D) 10000

q euenswier eunsemsetiar wrmliLy 1994 — 1995 sreawr allgSwreLd ?

A) 20000
C) 40000

B) 30000
D) 10000

103. What is the approximate % drop in production of ‘P’ type vehicle from 1992 to 1993 ?

A) 60 B) 40 C) 43

D) 35

V‘:? -&0 Qg 1993 & p eurnser swmhinler GMD ey eTauauaTa) Fsalsid S L L L 9
60

B) 40 C) 43

D) 35

104. Whatis the increase in production of P’ type vehicle between 1993 and 19947

A) 40000

~ B) 20000
C) 50000

D) 60000

1993-0 @Q\mrsy 1994 6 p eunsen SWrMUSer o wiiey eTaialena

B) 20000
D) . 60000
05. Cover §!IIE Forward : ?
A) Mid-on B) Defense
C) Goalkeeper D) Third man
&6 : evallLs : Umieur(@ : 7
A). B -gyeir B) 5@y
C) Csrev& i D) 5% Cuwer
Karnataka : Kerala : West Bengal :
A) Telangana B) Tamil Nadu
C) Bihar D) Orissa

apr_sn :Gagennr : CpEaikisners
) GClsgymi&mern
) s i

B) 884 s
D) €hzr

[NV

107. Find the odd man out.

1,4,9, 16, 23, 25 \E/
A) 9 B) 23 C) 25

D) 4
Coupylini’ . erevsr 618/ 2
1,4,9, 16, 23, 25
A) 9 B)ied C) 25 D) 4

A) Sunday
C) Monday !

108. There are 5 Saturdays in a month. Which will be the first day of that month ?
\ﬁzmw
D) Tuesday
@b LOIFSFIV b5 FelSRUPIOGET 2 6irares. HbG LOIFSF (LpFEV BAGT 615I0ITH @56 @LD ?
A) @mipmis&ipenio B). GQevarelsfipentio

C) Smsen Glpenio D) Qsaiaimiig Spenio

109. £
3 5 fvg
1
1 27
9 % gl

fz_ <
%25 B) 225 C) 625 D) 100

110. Ifin a code language A B C D is written as 26 — 25 — 4—23.whatwillbewrittenfanXYZinmesameoode?
A) 3-22-14-18 )

4-3-2-1
C) 17-16—-15-14 D)SI=0 =3 4
PG 5655 @plufi_igev AB C D, 26 — 25 — 24 — 23 remr GOESLILLC L mev, W XY Z #5855 GHuiG
sTeHIeTIOUNS @)BSGELD 9 s
A) 3-22-14-18 .
C) 17-16-15-14 D) 1-2-3-4
111. Penology : Punishment :: Seismology : ?
A) Law Earthquakes C) Order D) Medicine

feoppliamsw : ger e i Hop®ss ywialue ; ?

A) &' L 1b

C) ewr@upep




lves in any situation. The

A (13 1
meaning of the word “ADAPT" Is
A D) Choose

e
112. Indians can adapt thems

A) Follow
Indians can adap

ol
A) Follow (QsT-@5) B) Clever (siple. )

C) . Adjust (581L18LTED) D) Choose (G5050S5) |
< called wood, wood is called straw, straw is called grass, grass is called rubber and r”hb_é’"

113. If paper!

~alled cloth what i the furniture made up of &

A) Paper B) Wood

/

C) Straw D) Grass 3

sTRSLD LOISSL L 6TaT J@PSSLILILL TGV, LogssL L mausGETe) CTaT JMIPSSLILIL L ey,
@usB&Te L6) T PSS LILILL M6V, L|GD FLILIT GTEH S ENPSHSLILIL_L_[T6V, Bsrp&red), GLoengpaer

@ s &0ls T (h TS
B) wrssL_ent_

A) &T&SLD
\}{mma‘@anﬁ: D) yev
114. Find the Antonym :
Aftack : Defend :: Affirm : ?

\/ﬁény B) Abrupt
C) Final D) Kind
STBILILGL Sevrig) :

SM6@ : STULITPDI - 2pIBILGSE : ?
Mﬁmﬂ@ B) Sie@yar
9y age D) gerenis

115. | ' '
5 :;I:: animals which can walk are called swimmers, animals Who crawl are called flying, those livingin
rare called snakes and those which fly in the sky are called hunters, then u'.;hat will a lizard be

called
A) Swimmers B) Snakes

o Py
~ Flying D) Hunters

| HRTRT T -25-
116. Fillin the blank with correct homophone :
The Millionaire died
s S —
A) Airless B) Heirless
C) Hairless D) Hareless 7 g

QoupplLgms sfurer auniengemws Qsrean® Hrdeb :

The Millionaire died
/Bj{rluas

A) Airless C) Hairless D) Hareless
117. 1f DIG is coded as 497, decode the expression 2556 B EL |
A) LEAF B) BEED _ €y BEEF D) HEAD
¢
DIG' ereitiens 497 areingy @I ey 2556 steinp Qemp@preos GBLGG <
A) LEAF B) BEED ‘/éEEF D) HEAD
118. If firsyOctober is Sunday, then 15t November will be .
W Wi
Wednesday B) Thursday e
C) Monday D) Tuesday N
2
H&CLnmui wpge G568 TP p&EpeowreTTe FaLbLIT pge CsH eTaTanains (@) ELD "
\ﬁsirﬁibpmm B) elwmps&ypenio "
C) Priser Hpeon D) GeeaiamiiPpe o e sntus
i‘ >
119. Which is the number opposite to 4 in the given dice ? ';ﬁ\ A ©
. 7
o™ Ve
/;? b / I 4
g DI

6/’

@/76

i
%

]

D) 2
P

D) 2
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A
.l?;;a""" < ‘-3, | "
\ia ~ o
120 g =2 y {}_J,._-, o
>
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> b
" ‘mq’

0 i
o g &t 6

7th from the top while John ranks 1 7! from the bottom in an exam marks list. If there is one

121. Rajaranks
rank between Raja and John, how many students were there in the list ?

A) 29 B) 25 C) 27 D) 31

o Ll Cgiie) LS LI6)LIewT ulpwedev, (Raja) prgm Cuoellmpg 7 gl @)L_ses U LD gomrewT |

B1Ampg 17 g QL sasy LIy SSIeTeTei. g, gmer A wupsEblaL Cu @@ @)LLb 2 Terg)

crefleh LI LR L 1 Wwa)d TSSmaeT LeTenensen 2 eTaTesm ?

A) 29 25 C) 27 D) 31

122. Find thgrmi'lssing qumber in the series.
1,7,15,25,37, ?

L .
A) 45 B) 47 C) 49 51

ailensiley P Cuner eTeenent Sevr (L.
e il 19, 28,37, 7 A s
*

o

123. The age of a father is twice that of the elder son. Ten years hence, the age of the father will be thlree

times that of the younger son. If the difference of ages of the two sons is 15 years. The age of the father
is

A) 45 B) 47 C) 49 D). 51

A) 50years
C) 60years

B) 55years
D) 70years

Cougra® 15 @ disermearmey SBeng uiler QI eTeien 9
' ‘ - = L=
)50 @B miser B) 55 eu@L_diser e
e o~ S5
C) 60 aumL_misar D) 70 eumL_miser ¥ ﬂ
: Tl =

>

...!" -

f?—-e“»--n

fiLLH | o A

124. The total

125, Sharma's salary is Sil'j?wa Varma's salary. What percentage is Varma's salary below Sharma'’s

126.

ll_
el

A) 7.40 am

number of digits used in numbering the pages of a book having 366 pages is
\/B)/ 990

366 ussmsmens ClsnemL_ g L5555 560 gableirmp LsssP D@L eTamentl(Bd GG ﬂﬁfﬁmmgﬂ
5

<=

A) 732

C) 1098 D) 1305

crars et 2 LICWASLILIGSSLI UL 19.(5&@&LD ?

B).990

A) 732 C) 1098

D) 1305

7
A) 50% D) 75% i

)33%% C) 66%%

ayfLomailel eu@sLonarid eurioneller swuamsens el 50% Bsib ereficy euionaler sbuemd (<

apforaller FbLUMGams ol assmar 550850 Gepeay ? > JB- T.
A). 50% B) 33 % % C) 66 % % D) 75% &

Mani leaves his house 15 min to seven in the morning, reaches Rajan’s house in 20 minutes,
they finish their breakfast in another 20 minutes and leave for their office which takes another

35 minutes. At what time do they leave Rajan’s house to reach their office ?
B) 7.25am

C) 7.35am D) 8.10am

snenev g(ploenils@ LuBearig Pl mser @) BéGL Curg el garg oL il ()
ypLiu@Spmr. 20 Ll miselley gngeflar el e gL Spni. @55 20 plbl_misefled Smenev
2 aWee (L5518 Clsnan(® Sauismg JHgleaawsd Gleatpent_w Gogyib 35 BILAL RIS o5 DS

SLiLg eTerprey grgeder @awsBelBEs Sgiawsd e crgsener enfld s Coids
LD LILILL9.(% LIS 6T 2 o

. -\ = :-"9
A) wppusev 7.40 \})épﬁumir 7.25 - -

V5

C) wpuse 7.35 D) wpuse 8.10 oo
What will be the angle between the two hands of a clock at the time 3.30 ? [
A) 60° B) 90° C)ul55 D) 70° .

GTCNTEUTRU TS @@i@uﬁ 2

\9*/90"

A) 60°
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A
: ount ?
- : t is the total am
128. A ount is divided in the ratio 5 :11. If the first person gets X 050/- Wha
n armoui
. 7 1,000/
A) T 700/ B) ¥900/- C) %800/ D)

. : ; 950/- HlenL_SSmen,
= (1% ()& Tem & 5:11 GTﬁﬁTr.'T,! Gﬁ@ﬁﬂ;@w Lﬂrﬁﬂiﬂuu@ﬁ}m@ @ﬁw msu’ﬂﬁ.@,‘&i@ ill)] s
s“  Qunsss ClETOS GTEURIGTRY 7

D) T1 000/~

A) T 700/- B) % 900/- 4 y/aow-

: i llowing Venn
129. Some animals remain only in water and some remain on ground. Which one of the fo g Venn

diagram correctly represents the right position of the frog ?

A CO0) a} C}@ D}@

Fev aflevmigser Fhlev @ s e aflevm G &6 BlevgHlew oL (BILD 8 &@LD. &euenaruller
ghlwmer plencvenw Learaisid 6155 Clasenr aflends euenguL b sMwmil &L 19&&TLHS DS

o @ A > B

30. If you write down all the numbers from 1 to 100, then how many times do you write 3 ?

A) 11 B) 18 C) 20 D) 21
1 Q& Qpss 100 aieng oyemenés) cremseneniyLd c1(pgib Gungy e1ggener penm ‘3’ M ﬂ@gmnﬁ
A) 11 B)-18 20 D) 21

. Afarmer built a fence around his square plot. He used 27 fence poles on each side of the square. How

many poles did he need altogether ?

A) 100 B) 104
C) 108 D) None of these
aﬁmsnuﬁ]‘ gm@ 4

#3170 Uy e plesgne Casnaser oanery) Geoval) 9N LDS & T g,gi;@mﬁ@ uémﬁj@ﬁ

27 Ganavsen saesrfenmeir. VU5 @& CLoNSHLD e155emer Gamevs e Coeneulii’ i_ar )

Vé‘lm R

D) @)eneu TSI @)evenay 7l

59, A

Read the following passage and answer the questions 132 - 134, !
Seven children A, B, C, D, E, F and G are standing in a line. ‘G’ is to the right of ‘D’ and to the left of
‘B’. ‘A’ is on the right of ‘C’. ‘A’ and ‘D’ have one child between them. ‘E’ and ‘B’ have two children

between them. ‘D’ and ‘F’ have two children between them.

8C1p Osr@ssLiLL Berer UGSlenw L1g55 132 = 134 qreng Gaaralsens@ alle waflésa Lo :

7 gypessear A, B, C, D, E, F&G aiflensuiley fna @eugsLILL Renreneat. ‘G’ ,'D'euevg) LDSBeILD
B’ 86 @)Ls1 ypepd 2-aterg). ‘A''C' Blewm euavg) Lpib 2 ererg). ‘A @b ‘D $@ib @ ulled S5
i 2 eargl. 'E 6w B'égw Qe e @@ Gpsesser o drerer. ‘D' é@ib ‘F &@5ib
@)enL_uiled @B SLPHESSET 2 GTeTen. \ Y

132. Who is on the extreme right ? 3 Y,
AB B) E . b} G
A F | D) G -

UGILPSHV Sl FUle) 2 aTer Giphas 61519
A) B | B) E e =ih SN
C).F D) G

133. Who is exactly in the middle ?

A) A B) C
FNwns pHeiev o ereng wrm ?
A) A B) C &
C).D D) E A
© o) €
134. Who is on the extreme left ? G

A) A B) B
Cy C D) D

@Lgiyns Gamyg e o ererg wm ?
A) A B) B
C).C g
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5 Whenyouareina function, your sriend muffler catches fire from th
do?

A) Callmyf
B) Quickly 80

riend and ask him to be aware of whatis happening

and call his mother

C) Pullout his muffler, throw it on the floor and pour water on it

and throw it away
e svpgl Gsmen LTS,

35 Guag LBEGHS AIIIGLRILE

D) Pullthe muffler
£ o cug) BETLIERILET TP
(oS L1er &iew o wHo QB
craren Gleuieumul ?

A) cTeTgl [FERTLIEHET IO PSI 9/ougl & & (B

o el ;EEEHTHEET '5@35'

B) GasLons Glearp /TS Frenw (e pLIGLIGT
‘ﬁ/urru};j@ Qe NG LTy ThSS! S &Gy G

D) wooLiereny (&5 IF s1fl Geu e

. Stress has

A) Immediate effects
B) Delay effects
C) Responses
D) Stimulus
DG | (LpS B LD
A) o L arig afleveneysar Q)& mewsTL_SI
B) snwgLomer alleneraser gpL(BSG/LD
C) gaumsGD&ET 2 L WS
D) ,seueTi_6V & e 9/ LB &) W &I
" The schools and colleges have to play an important role in
A) Decision making

B) Talent
C) Producing able leaders

D) Discipline

Licrefs@pib sgisesh @B pEBw LmG HpSase@Lo
A) wptga) TBES®
B) e B

C) D GO LD UL [TEDT &En QG THET 2 (156UTH & BV

49@$5Lﬁ-

e candle O the tabl

guilev 8 LpmI& Qe TSl

fev eTawesT HL-SHDGI 6T LTSS

o
.I 1
LALRERL (]

e 72 What will you

e HEBSGES
J'I.,

G)Fmev B euesr |

LML (B &6 1Bgl penT ssp I Gauer

b

b

IWW 1= A
138. Honey is related to wax in the same way as Milk is related to ?
A) Cow
B) Leather
C) Eggs
Water
Gseir Quoap@Leir OFTLTL@LLSL SIS Guineirg LN o1 T Q@miiLjenL- Wl
B) Ggnev y
) G5 . o &
C) (_;:pL'_ﬁmL.EEﬂ q:f-': f =
. A Q
D)l. ﬂ-ﬁ'ﬂ?ﬂlﬁ'ﬂfﬂ 1...-?1:?"‘ qﬁt - \
o~ A no® "‘":
139. Which of the following is the same as Radium, Polonium, Uranium ? "M A : l
A) Thorium . : > ok
GI:P G Fie
B) Caesium < %:
C) Barium \E
D) Strontium
8 paetsTL_aIDDIeT 18] Grgwib, QunGevnesfluib wppith yGraflwssiL e @558 o

140. You are in a new place

g@

\Mﬁ il wib
g S°
.-.-.._.-..-'-

B) @aflwip

C) GuMwio . .
EFSE
N A

D) e grerafluih

and you want to go shopping. What is the most likely thing that you would do ?

A) Totally drop the idea of shopping

B) Find out the place on your own

C) Ask someone who knows the place to come with you

D) Ask some one else to do shopping for you

o Ul QLB B smonaTsaT s seL_505GNEE OFde HamsSpri. f P Cleiu
aflenipuyid SmilwLD
cTsas & all(Se

A) se505BsE CUIGL © ‘ ,J:_

\/Blfﬂmaﬂm O[T P B® _ -E ,
C)-@Ltb G}ﬁrﬂﬁ_fﬁmmg ;ii'rg}u_iif‘almgpﬁ?g# QlFeugy) F6v .-‘-'- : :J

Qs@alsE CUTss Q&I B =8

D) wpGprreie sHLS
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